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40ppb 24
1 Y aX b Y 1
1 a b r
40ppb
ppb a b
r
21 NO 48.9 42.5 6.4 1.033 5.0 0.999
(24) NO:2 39.6 44.1 -4.5 0.938 -1.8 0.987
( ) No, NOx 88.5 86.6 1.9 1.000 1.9 0.998
NO 67.2 24.0 43.2 0.709 48.6 0.813
25 NO:2 29.0 43.4 -14.4 1.106 -18.8 0.987
NOx 96.2 67.4 28.8 0.764 43.0 0.908
NO 285.6 213.9 71.7 1.037 63.8 0.997
25 NO:2 15.6 53.0 -37.4 0.838 -28.7 0.847
NOx 301.3 266.9 34.4 1.019 29.4 0.998
NO 42.8 24.8 18.0 1.175 13.7 0.999
25 NO:2 16.2 33.5 -17.3 0.657 -6.1 0.914
NOx 59.0 58.3 0.7 1.064 -3.3 0.999
NO 102.0 56.7 45.3 1.039 43.1 0.997
24 NO:2 9.6 41.6 -32.0 0.749 21.6 0.868
NOx 111.6 98.3 13.3 1.004 12.9 0.995
NO 118.4 83.6 34.8 1.036 31.7 0.999
24 NO:2 33.9 39.3 -5.4 -1.364 87.5 0.575
NOx 152.3 122.9 29.4 0.867 45.7 0.991
NO 24.3 1.2 23.1 2.003 21.8 0.672
24 NO:2 2.3 5.1 -2.8 0.788 -1.7 0.964
NOx 26.6 6.3 20.3 0.983 20.4 0.907
NO 85.0 77.8 7.2 1.013 6.3 0.987
24 NO:2 38.6 43.0 -4.4 0.839 2.5 0.758
NOx 123.7 120.8 29 0.986 4.5 0.977
NO 158.1 148.1 10.0 0.979 13.0 0.997
24 NO:2 49.8 54.2 -4.4 0.802 6.4 0.578
NOx 207.9 202.3 5.6 0.900 25.9 0.987
NO, 40ppb NO,
30ppb
NO 40ppb
NO, 20ppb
NO NOx 40ppb NO,
20ppb
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